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16U/101/15 Set No. 1

No. of Questions/yv=t & @&ar : 150
Time/®WT : 2% Hours /9w Full Marks/quit® : 450

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for cach incorrect answer. Zero mark will be

awarded for each unattempted question.

mﬁmmﬁﬁwmmmﬁtmmaaﬁm%\m

mm%mwmmmlma@ﬁamwmm
& |

(2) I more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

Hﬁm&mﬁmﬁamaﬁw%ﬁwm

1. The total number of Stock Exchanges in India is

TRd # F @Y fauiel i de 2

(1) 20 @) 21 (3) 22

(171) 1
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2. On dissolution of a firm, all the assets are transferred to Realisation Account at
their

(1) written value
(2) market value
(3) book value

(4) cost or market value whichever is less
ﬂﬁ%ﬂwm,mﬁwmﬁrﬂmﬁhmﬂﬁmﬁﬁﬂiﬁmi
(1) SAfwa Hed § (2) I [T W

(3) J&= T4 T (ﬂm-mwwsﬁsﬁmﬁ

3. SEBI was established in

¥ # v ¥4 g A7
(1) 1988 (2) 1998 (3) 1992 (4) 2002 .

4. In India NIFTY and SENSEX are calculated on the basis of
. in

(1) market capitalisation (2) paid-up capital



S. The financial instrument with shortest maturity period is
(1) call money (2) certificate of deposit
(3) commercial bill (4) treasury bill

w8 9 afuwa Ely aen e s Se-ar 2

(1) = g1 (2) s wo-un (3) IRE e (4) @e R
6. Commercial banks or Development banks issue this document

(1) commercial bill (2) treasury bill

(3) certificate of deposit (4) commercial paper

e &% o femm & S-m ofcre ot W §2

(1) o= fo@ (2) @omn fore (3) W WU-v3  (4) IR 3

7. When shares are issued at premium, premium amount may be utilized for
(1) issue of bonus shares (2) payment of dividend
(3) payment of operating expenses  (4) redemption of debentures

mﬁﬁmﬁmﬁfﬁamm,wﬁaﬁuﬁvwmﬁmmqm?

(3) SR Xl & o gy (4) Fwl 3 o 3
8. Which one of the following is not the objectives of SPRY »

(1) Protection to the investors
(2) Control over brukese

(3) Protection to the irdystrigjigt
(4 Checking the insider traygy, g

1 "‘



frafafga & @ - F=h =1 e T R7?

(1) Fawi 1 g (2) cemet
(3) TRt g (4) =i 3fén A J
9. Which one of the following is not a part of capital market?
(1) Gilt-edged market (2) Commercial paper market
(3) New issue market (4) Secondary capital market

frefefga & @ #A-a1 goft SR F AW T 27
(1) ¥8 wfeqfa Sm (2) TR W@ AR
3) T ffn am (4) foefrr st areT

10. Which one of the following is not a function of the new issue market?

-

(1) Origination of securities (2) Underwriting of securities

(3) Distribution of securitics (4) Administration of securities

3 Fd T8 7
ﬂq&f@aﬁﬁmmﬁﬁ‘hmﬂ
(z)gﬁ\{ﬁﬁﬂnﬁ’ﬁﬂ
(4) Sfenffodi sl I

- u“(&et\‘mﬁng costs

/ e marke of securities

!
sing the andness of securities

4



12.

13.

(171)

@y faufn § wffedl & geiae @ wod P § @ formd s weman 7@ firerd ?
(1) e # seM o

(2) AR =7 # 9 =3 §

(3) wfnifeai & aom # fagga @ #

(4) sfegfe it ggea i yEmfy 3 A

The most important function of a Stock Exchange is to
(1) safeguard the interest of investors

(2) help in the capital formation in the country

(3) provides facilities for speculation

(4) provide a ready market for all securities

@y faufr 1 gatfos e R

(1) PRl g &t wn w0

(2) S & Y |l § wermen w0

(3) Weawsft & forw gfven wqm wen

(4) w0 sfvfel & fore dam sem 3

Which one of the following is not g party of depository system?

(1) The Depository Participant (2) The Investor
(3) The Broker (4) The Issuing Compay
fFrfafgs # 8 R R0 <oy 31 garmr w6 22
(1) feaifored withea (2) Fvms
(@) (4) 7 e FoH)
5
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e G B il T et kL T

14. Which one of the following is not a method of floating new issues in the ‘Primary

Market’ ?

(1) Public issue by Prospectus (2) Offer for sale

(3) Making the contract (4) Private placement
Aofafgs # @ #-m ‘mufs e’ § Ju fofm & yada & fafy @ 27
(1) Y g Eesie e (2) fawa & @ y=ma

(3) v (4) Felt @R

15. In which market, old shares are purchased and sold?
(1) Capital Market (2) Primary Market

(3) Secondary Market (4) Money Market

g T o A wR R A 27
(1) st T (2) et WS (3) fedlh M (4) FH IO

ancial Statement Analysis does not inctude

16. Fin
(2) Fund Flow Analysis

(1) Trend Analysis
(4) Income Statement



17. Calculate operating profit ratio when net sales are ¥ 20,00,000, gross profit is 20
percent and operating expenses ¥ 40,000

(1) 14 percent  (2) 20 percent (3) 18 percent (4) 16 percent

yfETe @ S i o AR sw gg B © 20,00,000, TEE @ 20% dU
TREeH =9 € 40,000

(1) 14 yfawa (2) 20 gfewma (3) 18 widwra (4) 16 ¥faw@

18. Claim not yet acknowledged as debt against the company, is called

(1) current liability (2) contingent liability

(3) provisions (4) reserve and surplus

FAT St onft aw Fof F U w0 F R W A R, Frem ¥

(1) =re afea (2) 8w=a TR (3) wraum (4) %1 @ anfry
19. Sale of fixed assets is to be shown under the head

(1) operating activities (2) financing activities

[3) inVCSting aCtiVitiCS (4) any Dther actiViﬁCS

we wfs A fh F e MiE F aea e w2

(1) e wfafafy (2) fasfta wfefafy

(3) e wfafafe (4) s fafafy
20. The expenses related w € majp opcrations.of the busin

| S8 ar

1) selling expenses 2) adriinistrati

(1) (2) a strative cxpenSes

3) operating expenses (4) non-administrqy;

( 'Strative Cxpenses
(171) 7

P.T.0)



21.

22.

(171)

FEEE ¥ gy TOEE ¥ FEfUd 9 s §

(1) okt == (2) yTERER =

(3) "R =@ (4) R-yemEfF =T

A Financial Statement that shows both rupees and percentages in the report is
referred to as

(1) a Common Size Statement

(2) a Relative Statement of Equity

(9) a Dalance Sheol

(4) a Proportional Financial Statement

w v fdy e St T @ sRw g A ok § gt R, w2
(1) wmr R f (2) goal H @My foE

(3) anfd= g (4) ST frty faor

Net Working Capital is
(1) current liabilities less current assets
(2) marketable securities and cash

(3) the excess of current assets over current liabilities

(4) total assets less current assets

1% SRS G
() e e — LT



23.

24.

25.

26.

(171)

While preparing Cash Flow Statement, ‘cash and cash equivalents’ consist of
assets which can be converted into cash within

(1) 2 months (2) 4 months (3) 3 months (4) 6 months

T AR famwr frln ¥ e @ e g’ A awhel § @ o § B
sty # gfafda it s wad 272

(1) 2 78 @) 4 T (3) 3 WER (4) 6 TER

The ratio which provide information regarding the long-run operation of the
business is

(1) activity (2) solvency (3) profitability  (4) liquidity
w%ﬁdmaﬂqqﬁamﬁamﬁamﬁnmﬁmﬁé
(1) wfafafy (2) Vq-&wa (3) TTERIAT (4) qTEa
Amount set aside to meet the losses due to bad debt is a

(1) provision (2) reserve (3) liability (4) fund
T A % @R F R wh R arch af 2

() TR (2) Fw. @ = @)

The cost of goods sold is ¥ 10,00,000, Opening stocks % 80,000, Closing stock
t 1,20,000. Calculate inventory turnover ratio

(1) 40 times (2) 10 times (3) 30 times (4) 20 times

% @ ow 6 arme ¢ 10,00,000, wrfem @l & 80,000, wfam Wl
€ 1,20,000. @4 mad i 4 o AR

(1) 40 T (2) 10 T (3) 30 T (4) 20 Tm

(P.T.0,)



27. Accrued incomes are shown under
(1) inventories (2) investment

(3) other current assets (4) current investment
Iuiia o femrd st 2

(1) =g | (2) fdm

(3) ¥ =y wefl (4) = Faw

28. Discount on issue of shares and debentures is

(1) fictitious assets (2) current assets

(3) current liabilitics (4) miscellaneous expenditures
it 7wl & woEl W AN R

(1) sAEd wwafeEr (2) =Te] Wt

(3) =1 i (4) fafew =

29. In Balance Sheet, assets are shown in the order of

(1) permanence (2) liquidity (3) market value (4) None of these
it fR § gt fom o A ot St @ |
(1) ot &0 | (2) T FH A
(3) T qed FA A @) ¥ ¥ F3 T
10

(171)



30. In a business, Cash sales are T 7,20,000, Credit sales are ¥ 80,000, Cost of
goods sold is ¥ 6,00,000. Find Gross Profit Ratio

(1) 15 percent (2) 65 percent (3) 25 percent (4) 35 percent
T FaEE ¥ T@g fashl T 7,20,000, 3R R T 80,000, ¥ W W H @M@
 6,00,000 &, W HHA TV U FA FIRA

(1) 15 wfwa (2) 65 fowra (3) 25 Yfwm (4) 35 wfowa

31. Marginal utility is equal to
(1) total utility minus average utility
(2) addition to total utility
(3) total utility divided by the number of units consumed
(4) total utility plus average utility
dwr SwEfie s B R
(1) o yAfrar — siwa swfan
(2) & Iwfen & gfy
(3)wwﬁﬁmmaaﬁm\ﬁnﬁn§msﬁ
(4) $ IR + sft|a 3w

32. The second glass of water generally gi - _
y gives less utility to a th .
happen because of ty to a thirsty person. This

(1) law of diminishing marginal utility
(2) law of diminishing returns

(3) law of equi-margjnal utility

(4) law of demand

(171) 1
(P. To)



wmﬂaﬂﬁﬁaﬁqﬁﬁmwwﬁm:ww&mmm%lmﬁm
FROT Bran R? :

(1) AT IYRfar g fFaw % SR
(2) T W s frem % ST

(3) @m-dmra Iiften Fam & FRo
(4) |t & e & FI0

33. Demand curve for a Giffen Good will be
(1) horizontal ~ (2) vertical
(3) slopping downward to the right (4) slopping upward to the right
i g &1 =M 9 qm

(1) &fest ) o9
(3) g A firan g3nm (4) TRl S I3 FA

34. A consumer is in equilibrium, when his budget line is

(1) above the indifference curve

(2) below the indifference curve

(3) tangent to the indifference curve

(4) cut the indifference curve
@mmmmﬁm%mmﬁmw

mmﬁgmm% (2) TeE T § A9 @t ®

ts]mﬁ.ﬂmm% (4) T4 TH B FEh B
12
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385.

36.

37.

(171)

4LV LIV 19 OCL INO. ]

For an inferior good, income elasticity of demand is

(1) negative (2) positive (3) zero (4) infinity
@ = ol B I & R, aln B oo A e
(1) =RUITeHsh (2) gqTcA®h (3) = (4) 3=

Average product is maximum when

(1) marginal product is greater than the average product
(2) marginal product is less than the average product
(3) marginal product is equal to the average product

(4) marginal product is negative

e Iere Halfes dar @ wg

(1) ¥ 3o sitea 3w @ s g @

(2) W I S IR ¥ W A R

(@) W e shwd e F wwe B 2

(4) W 3T T e 4

With increase in output, Which cost increases continuously?

(1) Average cost (2) Margina] cost (3) Fixed cost
SR TR R TR R
(1) 3hwd A (2) dv= (3) fer amm

(4) Variabje cost

) et am

13
(P.To,)
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38.

39.

Which of the following curves is not U-shaped?

(1) Average fixed cost curve (2) Average variable cost curve
(3) Average total cost curve (4) Marginal cost curve

P § 3 AW T U-OTEHR B TE @ 7

(1) 3fEd fER @ o (2) sEa aiEdwRid QI o
(3) wa F@ @@ T - (4) = @ T

The demand curve of a firm under a perfectly competitive market will be

(1) vertical (2) horizontal

(3) negatively slopped (4) positively slopped
7 yfErh aem § o W @ 6 S ' |

(1) v @) &k

(3) e g AT (4) WERIEE T T

The concept of selling cost was propounded by

(1) Alfred Marshall (2) Edward Chamberlain

(3) Joan Robinson 4) A. C. Pigou

WWWWW&GWWW
mmgmmgq (2) TEaE JwRiH g

: 0.0
) < T T (4) To-¥0 W T

14



41.

42.

43.

Ordinal measure of utility is required in

(1) Utility Analysis (2) Demand Curve Analysis

{3) Indifference Curve Analysis (4) Revealed Preference Analysis
SUAfiT % FH W TN H NETEEHAT 2

(1) Swfren faverwo # (2) B a% faveww A

(3) e e 3 (4) Yohe At farverw §

Under monopolistic competition, a seller gains abnormal profit when

G S % sfa w fawd F @HR @™ WH g 2, 99
(1) MR = MC (2) AR = AC (3) AR > AC (4) AR < AC

According to Marshall, the law of diminishing returns applies on
(1) agriculture (2) industry
(3) neither agriculture nor industry (4) agriculture and industry both

e % AR, IR W Pam A @

(1) ¥ & (2) 3 d
(3) 7@ FN T & g § (4) F 3R =@ g §
44. According to Keynesian theory of employment, employment depends on
(1) aggregate demand (2) aggregate supply
(3) effective demand (4) quantity of mOney
15

(171)

(PT0,)



45.

47.

(171)

i & A9 Rigra ¥ oer, d9m fR wea R

(1) &9 | W 2) " qff w

(3) wwTEIeE® wim @ 4) g1 A wE W

On which date the Rail Budget for 2016-17 was presented in Parliament?
(1) 25th February, 2016 (2) 27th February, 2016

(3) 28th February, 2016 (4) 29th February, 2016

g fafy W af 2016-17 #1 & a9 goe & W fR MY

(1) 25 wadl, 2016 H (2) 27 ®&l, 2016

(3) 28 w@&EfR, 2016 = (4) 20 wEH, 2016 H

A sole proprietor decided to use the business bank account also for his personal
affairs. Which of the following accounting principles is violated?

(1) Going concern (2) Consistency

(3) Entity | (4) Dual aspect
mmw%%wﬁmmwﬁﬁmwﬁmﬁm
a1 2| e e @R # P A W@ R?

(1) 91 FEE (2) TEE (3) e (4) femeeg,

If a trader’s sales amount to ¥ 18,000 and his gross profit and net profit are 60%
and 40% of sales respectively, then his expenses are

of w s # R T18,000 i 3G wHa O W@ @ o e w1 wE
§, @ % = §

(2) 2,500 (3) T 3,600 (4) T 2,600

60% @ 40%
(1) 7,200
16



48. Which one of the following is correct?

(1) Gross profit + Sales + Direct expenses + Purchases + Closing stock =
Opening stock

(2) Gross profit + Direct expenses + Purchases + Closing stock — Opening stock
= Sales

(3) Gross profit + Direct expenses + Purchases + Opening stock — Closing stock
= Sales

(4) Gross profit + Direct expenses + Purchases + Opening stock + Sales =
Closing stock

frafafas 4 & #-w & 7

(1) &7 @M + BFa + JO8 =4 + $9 + A0 T = wwite @l
(2) TFE T + FIW T + w4+ Am whe — I i = gy
(3) T TN + TOE W + I + VRO RO — A @R = R
(4) T TN + TG W + 7 + e T + R = s e

49. Outstanding expenses appearing in Trial Balance will be shown on
(1) Debit side of Profit & Loss Account

(2) Debit side of Trading Account
(3) Liabilities side of Balance Sheet
(4) Assets side of Balance Sheet

qaqe ¥ IUa o1gn = ewigr s@m
(1) aM-7 B % e vg & (Q,WEﬁai@ﬁzqqﬁ
(@) i G 5 e 29 ) ST R % vty o i

(171) 17
PTo,)



50.

51.

52.

53.

(171)

Goods of the value of T 500 withdr. :
awn by th
use should be credited to y the owner of the business for personal

(1) Drawing A/c (2) Sales A/c (3) Owner’s A/c (4) Purchase A/c

R % W g w=E % S99 %I T 500 %
T ERE e T % Wi ® AUR d fHewren

(1) sEwm @ (2) fosma @ (3) @rft = @@ (4) FE @il

A.and B are pgrtners sharing profits and losses in the ratio of 3 : 2. C is admitted
with 4 share in the profit. What will be the new profit-loss sharing ratio?
ATo D wrs v H 3:2 % aguEa # em-gl @fed ¥ c wm A L wm F fom
HIHER T W 2| - ated w1 A 9| F e ?

(1) 3:2:3 (2) 6:4:5 (3) 6:4:3 (4) 3:2:5

In the event of death of a partncr, the accumulated profits and losses are shared
by the partners in their

(1) old profit sharing ratio (2) new profit sharing ratio

(3) capital ratio (4) equally

@ w7 f o aazﬂmamsrﬁiﬂimﬁwamﬂ%aﬁa

ﬂ%mﬁ‘@""
(1) g = T S (2) 7 @ fo I

(3) i—aﬁ ggqﬁ (4) SOE-SE

Income & Expenditurc Account is a

(1) Real ACCOUnt u} Nominal Account

al Account (4) Staement

(3) Person
18



54.

55.

56.

(171)

I 3k = Y R
(1) T an () e d@ (3) wfew dEr (4 o

Under Annuity Method, the amount of depreciation

(1) fixed for all the years (2) increases every year
(3) decreases every year (4) None of these

afis af veh & swte g@ A o

(1) &t aul ¥ forw s T (2) SR weh &

(3) whiad wedt 2 (4) ¥ & F 7

X Co..Ltd. forfeited 20 shares of € 10 each on which € 5 per share were paid up.

The company issued these shares @ ¥ 8 as fully paid up. Amount transfer to
capital reserve will be

xéo%otlowﬁaﬁzﬁdﬁﬁWtssﬁaﬁmaﬁmm
w#ﬁmﬁtsmmﬁaéwﬁﬁwﬁﬁﬁ%m;f@

(1) T 40 (@ %60 (3) €20 4) T 100
All adjustment entries in Final A/cs are written at two places
(1) Trading Account and Balance Sheet

(2) Profit & Loss Account ang Balance Sheet

(3) Trading Account and Profit & Loss Account

(4) Trading or Profit & Loss Account and ‘Balance Sheet

19
(F.T.0)



mmaﬁaﬁﬂﬁm@ﬁmwammm%
(2) A-TH TR au sfde fay §
(Sjmaﬁmm-tﬁuﬁﬂ

(4) R @ A r-g @ o et i 3

§7. Profit on cancellation of own debentures is transferred to

(1) General Reserve
(2) Capital Reserve
(3) Secret Reserve

(4) Profit & Loss Appropriation Account
7} T % (R W g o S ?
(1) W @) $oft F |
@) T8 ¥ (4) TM-gR FEe E

58. Interest on drawings is

an expenditure for business (2) a gain for the business

neither expenditure nor gain (4) expenditure and gain both

(3)

S W A ¢
(1) s ® () =raEm % fre wfw
(S)q@\msﬂ'{ﬂﬁmﬁ’l @) = @@ e 3

20
(171)



62.

63. NABARD has beel

Monetary Standard refers to

(1) principal method of regulating the quantity of standard money
(2) principal method of regulating the exchange value of standard money

(3) principal method of regulating the quantity and the exchange value of
standard money

(4) principal mcthod of regulating the purchasing power of standard money

TE & e @

(1) oo g1 6 wEn & famw i e goe

() Tt Tz % fafer 9w % e @ ged o

() ST T T T T R g % e A e el
{4)gmﬁmgmﬁwwﬁﬁisﬁumﬁ5@m

established on the recommendation of

Talwar Committe® (2) Tandon Committee

(1)

(3) NarasimhaE comimittee

e o e Wﬁ‘“‘gﬁﬁ o
(3)

. R (9 R iy

(4) Shivaraman Committee

v bet\‘itn value
: of

he rc\aﬁonsmp .1 money and geneal Price-leye) o
A T (2) indirect

(1) airec ns

a0 (4) proporticil
3\ 1{\\13“-‘5&
( 22



59. Del Credere Commission is calculated on

(1) cash sales (2) credit sales

(3) total sales (4) credit sales reduced by cash sales
ufeny FfvE A o i IR

(1) 7% fasha w (2) 3R fag W

(3) Ta fmma w (4) 3R fawrg § @ T foma 9 v

60. The use of FIFO method is suitable
(1) at rising prices (2) at faling prices
(3) at constant prices (4) at fluctuating prices
i faft & W@ Sgw @ 2 _
(1) #ra Fig A Ry 3 (2) weft fvm A fRfy 5
(3) for Rma A fufy o (4)331;_.?@3%#%!?

61. Actual money refere tg

(1) unit of currency (2) money of account
(@) comTT T mong,
LIRS wgE
MA@ | T )
0 iy o

21



62.
Monetary Standard refers to

(1) princi
pal method of regulating the quantity of standard money
(2) principal
pal method of regulating the exchange value of standard money

(3) principal meth
od of re i :
standard money gulating the quantity and the exchange value of

(4) principal method i .
P cthod of regulating the purchasing power of standard money

TeMH 8 ared 8
(1) s g1 A wmn & frow f g@ yored
(Qlumﬁmgm%ﬁﬁmgﬂ%ﬁﬂmﬁg@m

(@) s g1 W qn I Rf e & A ge
(4)mﬂ1ﬁlﬂig;1ﬁmrﬁﬁ%ﬁumﬁgmm

63. NABARD has been established on the recommendation of

(1) Talwar Commitie®
mhan comumittee (4) Shivaraman Committee

(3) Narasi
Wé-ﬂ'x" if'mdﬁﬁmﬁﬂi?
= o T e
PR (4) o iy

(2) Tandon Committee

(v |
.» DELWEN valy
P € of money and BeNCAl price

64 o leve jg
(1) airect l (2) indirect
¢f0118
3) jnversé (4] pmpol‘fioﬂ

171) =2



65.

(171)

0 % g ol g i WROF 9 F S way @ 98 R
(1) Saa (2) T

(3) favdia smqwicss @y (4) FUETATR

Which of the following is considered as the Economic Evil of Money?
{1) Encouragement to borrowing

(2) Encouragement to overcapitalisation

(3) Encouragement to materialism

(4) Encouragement to borrowing and overcapitalisation

fefafed 4 @ F9-a1 g0 & Afds 9 7@ S BY

(1) 39| 9 h WreaEA

(2) Afa-ysiga A Treared

(3) Wferarg A Wrearea

(4) SUR 31 AU Hfa-Ysfimm 1 Wreame

Indian Rupee is

(1) standard money (2) token money
(3) standard token money (4) optional money
IR 991
(1) o g1 @ _(2) FrHf g5 R
(3) I ®iFRE gm0 R ) Mo s

23
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67.

68.

(171)

The prevalent name of Gold Currency Standard is

(1) Full Gold Standard (2) Gold Bullion Standard
(3) Gold Exchange Standard (4) Gold Parity Standard
@ gemE % vafed am R

(1) Qo w@ofam (2) @t g

(3) =t fafrm =m (4) @O @1 7

According to transaction approach, which of the following factors determine the
general price level?

(1) Quantity of money in circulation, its velocity and the volume of trade
(2) Volume of credit instrument and its velocity

(3) Quantity of money in circulation, volume of credit instrument and volume of
trade

(4) (1) and (2) above

s Rema  oER, e d @ #-m we awe e feife
= 87 |

(1)ﬁmﬁwﬁm,.mﬁmnﬁmmﬁ@ﬁmﬁﬁmﬂﬁﬁw

(g)m-gmﬁqm,ﬁw“ﬁ'

(4) IR® (1 @ (2

24



69.

70.

71.

(171)

To reduce the inflationary gap
(1) the amount of tax should be increased
(2) production of goods and services should be increased

(3) (1) and (2) above should be adopted

(4) Dear Credit Policy should be adopted

Wi W B o) F R

(1) = K am § iy wch he

2) Tt @& el & e § 3fy weh @
(3) IWH (1) 3 (2) B wwm T

(4) "ot amg ffy sErh =fe.

Which of the following is an asset for a bank?

(1) Capital (2) Reserve Fund
(3) Loans and Advances (4) Bills Payable
h%ﬁqﬁnﬁr&mﬁﬁm—mmﬁf%?

(1) gt (2) T Fry

(3) Tt =W qor Infrg (4) 27 famt

Of all the assets of a bank, the most non-profitable agset is

(1) buildings and furnitures (2) cash

(3) call money

25

(4) buildings, furnity,
°S and caqp

(P.To,



%ﬁwwﬁﬁﬁﬁmqaﬁmq&mﬁg
(1) T T L a—

(3) A (4) WM, T TAT THS T

72. Dead Stock of a bank is
(1) office, buildings and furnitures  (2) moncy at call and short notice
(3) treasury bills (4) commercial bills
w &% @1 g0 &4 2 |
(1) e, v qd HHe (2) Fa-gF WA
(3) @ faw (4) =i

73. The issue of currency notes by the RBI is

(1) proportional Reserve System (2) Minimum Reserve System

(3) Fixed Reserve System (4) Maximum Reserve System

mmaﬁ%ﬁzﬁlﬁ?ﬁﬂzﬁ%
[I)Wﬁﬁmm (Q)W"‘ﬁ"qﬁﬁ
(3]ﬁf§-aaa’mq3ﬁf (4)a:ﬁzmquﬁ

of the following is not a quantitative method of credit control?

74. Wwhich |
(1) Disco 4t rate (2) Open market operations
i
v ariable reserve ratio (4) Credit rationing
(3)

26
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78S.

76.

77.

78.

(171)

frafafes 4 @ F9-w /@ freisw 6 oRommas ot 5@ 27

(1) AR ® (2) @& IR A frand

(3) RadR HruruE ' (4) gr@ H gfim

Which of the following is used for International Monetary Transfer?

(1) RTGS (2) NEET (3) SWIFT (4) None of these
FE qg1 THR & o e wdim @ 27

(1) 3MoHosftoumo (2) THoZoZoHto

8) THoTT oM oThoTo (4) ¥ @ #3 7

If Raj sells an iron for % 400 gaining  of its CP, find the gain percent

a&m%aﬁm%%Oﬂﬁm%,ﬁwﬁimmW%mm?,m
g wra i

(1) 20% (2) 50% (3) 25% (4) 75%

(1) 40% (2) 662% (3) 331%

What price should Ratan mark op g fan which costs him ¢ 3
20% after allowing a discount of 10% »

(1) T 5,000 (2) * 6,000 (3) ¥ 3,600

27



79. i '
iﬁw and Kall‘tl borrowed T 3,500 and t 4,000 respectively at the same rate of
erest for 21 years. If Karti paid T 150 more than Ravi, find the rate of interest

(1) 12% p.a. (2) 14% p.a. 3) 11% p.-a.- (4) 10% p.a.

rﬁaﬁmﬁim:t3,sooaﬁtt4,ooowmam2{;aé#%qm
Rl a2 FE 3 T @ € 150 o yram Fen, o @ I AR

(1) 12% Ffad  (2) 14% SIRCL] (3) 11% wfead (4) 10% wfoad

80. A certain sum of money amounts to T 1,260 in 2 years and to ¥ 1,350 in 5 years.

Find the rate of interest

T g 2 9§ ° X 1,260aam%aﬂtsaéﬁr1,3soam%1mm
v $ifd
(1) 3:5% (2) 2:5% (3) 4% 4) 2%

81. Sudhir and Karim together can complete a work in 15 days. If Sudhir is three
times as good a workman as Karim, in how many days will Sudhir alone finish

the work?
(1) 10 days (2) 25 days (3) 20 days (4) 15 days
gﬁﬁta&n@mﬂw 15ﬁwﬁ_@wmilaﬁgmtaﬁﬁ_aaw
amamwmmﬁ,zﬂgwmmaﬁﬁmﬁﬁﬁﬁme?
(1) 10 & (2) 25 f& (3) 20 f& @) 15 T

82. Al75 metres long8 train crosses a 185 metres long tunnel in 45 sec. Find speed

" of the train i km/hr

& 175 e @0 & 185 et w=h g B 45 e § T A 2 3 A W
21 km/br 8 T

2) 288 km/hr  (3) 182 km/hr  (4) 8 km/hr

28

(1) 208 km/h
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83.

85.

an,

Simplify

WA i

5x+2_ 2x+95

4x-8 x?-x-2

Sx+9 2x+5 2x+3 4y Sx+3
() 4x +4 @) 4x-2 @) 2x+4 @ 4x -4
Simplify
T« R
4la-6{a-2(3a-4a+3)}

(1) 8a-122 (2) 28a+114 (3) -68a-144  (4) -38a -124

18 cm. Find the area of the path

wmﬂuﬁﬁuﬁ'@m 18cm3,§imﬂmaﬁ3ﬂ'{3cmmﬂﬂ
A TR WA R) TR B AABA W R b

(1) 324 cm? (2) 476 cm?  (3) 188 cm? (4) 252 ¢m2

Determine the area of a triangle whose sidos arc S cm, 13 CM and 19
cm

@ﬁﬂaﬁmﬁgaﬁScm,m-maﬂzlzcmg,mmmﬁm

(1) 36 cm? (2) 30 cm? (3) 42 cm? (4) 38 o2

29
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87. A i i
thgogper wire w.hen bcn.t in the form of a square encloses an area of 121 cm?. I
ame wire is bent in the form of a circle, find the area of the circle

S;aﬁwqumaﬁ%wﬁﬁ@m%,aa121cm2€mmﬁm%|?ﬂi
mﬁ@w%mﬁﬁam%,fﬁ@mmmﬁﬁﬁ

2
(1) 154 cm (2) 134 cm? (3) 164 cm? (4) 124 cm®

88. Express as a positive power of three (3)

4 (3] ¥ oo T & w9 d = AR
(9"‘)><[27)'2
(81)" 2 x3°

2 2 1 1
) 5 2 2 G 5 R

89. A sum of money is divided among Dev and Deep in the ratio 5:13. If Deep’s

ghare is 1 789, find the sum of money

qasmrrﬁraaaﬂzaqﬁsnsasagmaﬁﬁmﬁ‘mﬁmm%laﬁaﬁw%w

(2) 1,260 (3) & 1,000 (4) T 1,080

90. 15 men can repair a road in 28 days, how long will 35 men take to do so?

() 12 days @) 14 days (4) 16 days

(1) 18 days
lsm@a‘sﬁwgs&qﬁmm%,ﬂﬁm%mm%,aﬁ
e o
(1) 18 T () 12 f& (3) 14 fe @) 16 &7

30



91. In Windows Operating System, the type of file with the .mpeg extension

indicates
(1) audio (2) video (3) temporary  (4) system
foee awfin e & -mpeg extension ¥ 8 a® H wEa yar To@r 27

(1) A (2) fafem (3) = 4) fawm

92. The quality of printer is measured by which unit?
Rt #t o fem @ & il
(1) cPI (2) MPI (3) RTI (4) DPI

93. Which was the most popular first generation computer?
= 4 3 3 ol o vm s FOYI 417

(1) IBM 1650 (2) IBM 360 (3) IBM 1130 (4) IBM 2700

94. Which will not harm a computer system?

(1) Firewall () Virus (3) Trojan Horse (4) Wormg
ﬁﬁhwqgamﬁaﬁﬁﬂ?ﬁﬁﬁﬁﬂiﬁﬁﬂ
(1) SrRRET (2) I (3) 2o i (4) Twj

95. Which type of printer ugeg ‘ribbon’ ?

(1) Laser Printer (2) Plotter

(3) 'Inkjct Printer (4) Dot Matrix Printer

(171) 31
.To,)



f¥a
T ¥ R § ‘few’ @ WM A R7

(1) a8t R
(3) ¥

(2) X
(4) eie-Afww AT

. Q jOln thc t
Intcrﬂct, the computcr iS con
rlCCted (0]

(3) Internet Service Provider (4) Cybe

yber Poli
aﬁzﬁ%%ﬁ%%wmmﬂm%r -
(1) =W anfdheaar S

(3) Tz afdw WaEet

97. CPU stands for

(3) Central Pr I '
) ocessing Unit (4) Central Processing United

cpy S Bl R
(I,Wﬁﬂﬁﬂqﬁl
(S)Wﬁﬁﬁm@?

() g S i
(4]%%{4@3

98. DTP stands for

] g (2) Data Printing

(3) Destop Printing @) Desktop Publishi
ing
(171) 32



100.

101.

(171)

DTP &1 WY & ?
(1) o ofeafim  (2) s Bfn (3) S=m R (4) Twwem fsafim

Which one of the following does general calculations for CPU ?

(1) ALU (2) Bus (3) DIMM (4) Control Unit
CPU & foid sm=r mrd #f1 =@ 22
(1) Toudogo 2) == (3) HodoTHoWo (4) Frgtel g2
LAN stands for
(1) Local Area Network (2) Live Area Network
(3) Lost Area Network (4) Long Area Network
LAN # amm 2
(1) Wt o s (2) W W Jewh
(3) wiw W Yeah (4) WTg oo Jod
Linux is a
(1) database (2) graphics
(3) operating system (4) animation software
TF R
(1) Srrew (2) iy
(3) fefen Reen (4) TR \igedn
33

(T



102.

103.

104.

105.

(171)

Which one is not an example of computer hardware?

(I) MS-Word (2) Mouse (3) Printer (4) Monitor
B # A a9 T wdam w1 IR T R7
(1] WoTgo-a8  (2) WISH (3) = (4) AR

To communicate live through Internet, which one is used?

(1) Talk (2) Chat (3) Email (4) FTP
wﬁzﬁmaﬁamﬂmﬁ%%ﬁmmﬁmm%?
(1) T (2) W (3) $ud (4) Thododlo

Whi(.‘.-'ll of the following is an example of Bluetooth?
(1) Personal Area Network (2) Local Area Network

(3) Virtual Private Network (4) Wide Area Network

ﬁﬁaﬁnﬁﬁmﬁm‘é?

(1) T O Yok o) < e e

() o T T (@) e e e

Size of IPVG address is

[pv6 address s ad g

(1) 32 bits (2) 64 bits (3) 128 bits () 265 bits
34



106.

107.

108.

(171)

‘Theory of Exception’ was propounded by

(1) Henry Fayol (2) Theo Haiman

(3) F. W. Taylor (4) Herbinson and Mayers
‘Har w1 g’ % wfaues 9

(1) 70 ¥ (2) fr &

(3) Who Tee W (4) e @ A

Selection of best option among available different options is called
(1) planning | (2) organisation

(3) decision making (4) controlling

sveren fafie Reedl # & weio fabed @1 g N TR

(1) Frvem (2) "I (3) factm @) B

Which is the right sequence of management functions?

(1) Planning, Staffing, Organising, Directing, Motivating and Controlling
(2) Planning, Organising, Staffing, Motivating, Directing and Controlling
(3) Planning, Organising, Staffing, Directing, Motivating and Controlling
(4) Planning, Staffing, Organising, Motivating, Directing and Controlling
YITEE FR F G FW Fa-am 27

(1) Faem, =i, dmem, A, R qur i

(2) P, e, =i, s, A qun A

(3) ﬁ'!ﬂT:F[’ W: mmr ﬁi&'ﬁ, mwﬁm

(4) e, wifn, e, s, e qu R

35
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109. Find the odd from the following
(1) speed boss | (2) repairs boss
(3) disciplinarian (4) inspector
frefafes # 3 fowm | == ff
(1) M () o TEE  (3) st (4) Free

110. ‘POSDCORB’ word is given by
(1) Henry Fayol (2) F. W. Taylor
(3) G. R. Terry (4) Urwick and Gulick

‘POSDCORB’ Wi&g feun 2

(1) 3= v (2) Tho T&Fo I
(3) Sfto 3mo & (4) 3f® @ e
111. Find the odd from the following
(1) wheél (2) probability  (3) cluster (4) gossip
froffias @ fawm A W@ AR
(1) dfean (2) @l (3) T (4) T

112. Which is the highest form of Democratic Organisation from the following?

1) viie organisatiol’l (2) Line & Staff Organisation

@) Functional Organisation (4) Committee Organisation

36
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113.

114,

118.

(171)

Fefifen 3 & S-m w0 ofts sreaitis deT =1 w27
(1) Y& ¥ (2)?@13&1%#@
(3) Twrarem dmrem (4) sfafa @

Find out the odd from the following
(1) Game Theory (2) Race Theory

(3) Queueing Theory (4) Decision-tree Theory

P & @ fww =t = Aiva
1) ¥ REm ) dshgm (3 i Rgm @) Fif-ga fegr

When the subordinates are disciplined, experienced and qualified, which of the
following leadership styles will be more appropriate?

(1) Autocratic (2) Free-rein (3) Negative (4) Any style

(1) Figw (2) Fatuard (3) Romew @) #i3 ot A
Which of the following is ot an element of planning?
(1) Objective (2) Policy (3) Principle (4) Strategy
ﬁqi%r&aaﬁﬁam-mﬁﬁmmaamt?
(1) Rw (2) (3) Rrgr (4) wrhfy

37
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116. For selection on non-managerial posts, which of the following is useful?

(1) Patterned interview " (2) Depth interview

(3) Non-directive interview (4) Stress interview
m-wﬁ%wm,mﬁéﬁ-mmmm%?
(1) wfemrid HIETERR (2) TEA RN

(3) AfERm wneTehr (4) sfererer e

117. A promoter of a business enterprise may be

(1) an individual (2) a firm

(3) a company (4) All of the above

T IS ST F S @ FwA

(1) @ =Afh (2) T P (3) T (4) Iww @t
118. The Purchase Manager talking to Production Manager is a case of

(1) upward communication (2) downward communication

(3) diagonal communication (4) horizontal communication

F7 TETE g I T AW A T awe R

(1) e FErEo (2) S

(3) famfia & (4) A T

119. Unity of command is violated under which of the following?

iqat] ine & Staff O isati
(1) Line Organisation (2) Line rganisation

() Functional Organisation (4) Project Organisation

38
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120.

121.

122.

(171)

frafafes & & feed srafa sy f vt =1 3gwa a1 27

(1) Y@ g (2) @ T FHEARK HHA

(3) frare W (4) TR |

The method through which railway engine drivers are trained is known as
(1) Sensitivity Training (2) Vestibule Training

(3) Role Playing Training (4) Virtual Training

3 fafu Fred g Yol fom oot ) e fen s R, @ s 2

(1) a%'mﬁam widagor (2) ERHIB ufdreror

(3) P frafer wfem (4) THo@ e

Which of the following is not an economic objective of business?
(1) Generation of employment (2) Earning profit
(3) Market standing (4) Innovation

Frfofea & & *-m =awm @ s Stw T 29

(1) B9 * gam (2) TR FA (3) TR F W (4) TR
Trade includes

(1) selling (2) buying

(3) manufacturing (4) buying and selling

39
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R | wfdfea @
(1) o & @) @b
1) s o (@) e T

123. Which of the following is not a feature of sole proprietorship?

(1) Risk bearing (2) Agreement

(3) Unlimited liability (4) Full control

frafafiar § 2 - vee w@ifica w0 qw T8 87

(1) Sifaw a7 (2) o (3) e qR (4 T FE
124. ‘Membership by birth’ is related to

(1) Sole Trader (2) Partnership

(3) Cooperative Undertaking (4) Joint Hindu Family Business

‘S d weaa g R

(1) whe = & (2) @ |

(@) T S (4) w7 forg R =@ d

125 Non-transferability of share is a feature of

(1) Public Company (2) Private Company

(3) partnership (4) Holding Company

40
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126.

127.

128.

(171)

3w N FFEOI TH FE
(1) wEsIf® P &
(3) "RIEH W

‘Equal Voting Rights’ is related to
(1) Cooperative Organisation

(3) Private Company

(1) gl € ®

(3) fsft ot @

(2) fsft wft &
(4}¥gﬁrﬁm=ﬁ$1

(2) Public Corporation

(4) Government Company

(2) wEwtE A &
(4) TRl wAl @

Which of the following is not a feature of a company?

(1) Mutual Agency

(3) Artificial Person

(2) Common Seal

(4) Perpetual SUCCCSsiOn

Refefen & @ #F-m w0 51 agw 18 29
(1) vReaReE AP (2) WA WEHG
(3) FFm =l (4) WER FHER

Which of the following is not a long-term source of business fin

(1) Issue of shares

(@) Trade credit

41

(2)_Issue of debentyreg
(4) Financi institution,
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freffe # & FR-m seaRs f @ ddeeia @a T8 27

(1) e @ ffaa (2) o 1 frim
(3) I HrE (4) faefla weurd
129. Which of the following is an unincorporated organisation?
(1) General Partnership (2) Limited Liability Partnership
(3) Public Limited Company (4) Private Limited Company
ffgg # @ A wn PP <o 7
(1) AW FEE (2) i i EmTd
(3) o fafigz Foh (4) A fafiee s

- mited Liability Partnership were introduced by which Act of Parliament?
130. Limite

i 07
(1) Ui mited partnership Act, 19
ved Liability Partnership Act, 2000
mi -

2) L1

) partaersP Act, 2000

_4st, 2013 '
3y Comw/ﬁm'm*ﬁmm%mmﬁ#?
Wa@ﬁm afufvam, 1907
(1 Wzrﬂﬁ are s, 2000
Qe fufm, 2000
) ek sfufE, 2013
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131.

132.

133.

(171)

pemB s S S i A S e

The major advantage of a franchise is

(1) training and managerial assistance

(2) national recognition
(3) personal ownership
(4) All of the above

TATRR Y@ ™ R
(1) SRreor oo S T
(3) Feft =i

(2) T A=
(4) SW® aft

‘Lack of incentive’ is a limitation of

(1) Sole Trading

(3) Company

o = s’ v e
(1) e =mw i

(3) Fot i

‘Open membership’ is a merit of
(1) General Partnership

(3) Private Company

Tft v’ w2

(1) 99 VAT A

@) st Foh &

43

'(2) Partnership

(4) Joint Hindu Family Business

(21 gt
() T R TR sy

(2) Cooperative Orgamsﬁtio
n
(4) Public Company

(2) FE Hirom
(4) THF o

(P.T.Q, )



134, i . .
Which of the following is not a principal export document?

(1) Certificate of origin (2) Bill of lading

(3) Mate’s receipt (4) Certificate of inspection
ffafies # ¥ Fa-m yom frafa yo 7@ R7

(1) 3T & FHOYA (2) fo afi% afen

(3) #ew wHie (4) Felteror 1 ST

135. The term CIF 1s used 1n

(1) internal trade (2) external trade
(3) wholesale trade (4) retail trade
HoamEoTho & TI® gan ?

(1) TR SR : (2) W@ TR A

(S)Qﬁﬁ'mﬁ (4)mewﬁ

d the Union Budget 2016-17 on 29th February, 2016 ?
(2) Amit Shah

136. Who presente

(1) Arun Jaitley

3 Narendra Modi (4) Nitin Gadkari
#FC 29 W 2016?3%‘}?[]%7&1?

2) 3R e @) 7% T (4) Fie et

44



137. Who is the Chairperson of NITI Aayog?

138.

139.

140,

(171)

(1) President of India (2) Finance Minister

(3) Prime Minister (4) Defence Minister

Hfe s = aream Wy 27 |

(1) Tgafa (2) faer wsh (3) vawRE (@) T W

The ‘SwaehhBharat Abhiyan’ was launched by Prime Minister on which date?

(1) 26th January (2) 15th August
(3) 10th September (4) 2nd October

(1) 26 st 2) 15 JIT (3) 10 fimwx 4) 2 s

Name the 29th State of India which came into existence in June, 2014
(1) Goa (m’émgana

(3) Lakshadweep TIsland (4). .
)-Andaman.and N 1C0bar Islangsg

WA 1 2091 U-BH-T 2. 5 S 2014 H TR W@

i (2) et
(3) e (@) o i B
Who coined.the term ‘Green Revolution’ in India?
(1) Manmohan Singh (@) Dr. M. 5, Shomiggug,
(3) Dr. William Gade o i

4
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141.

142.

@ § B s weg e g fen ?
(1) we fée (2) o To THo WIHHIA
(3) =~ fifem nre (4) o dto A

India’s first All Women Bank, ‘Bharatiya Mahila Bank’ was opened in which
year?

waiwmm_q&mﬂa,_‘mn&mh’aﬁmﬁma&ﬁg?

(1) 2012 (2) 2013 (3) 2014 (4) 2015

Which of the following will be simplified by the proposed Goods and Services
Tax (GST) ? '
(1) Direct tax

(3) Sales tax only

(2) Indirect tax

(4) Service tax only

(1) Fed F
What is the full form of SEZ?
143. | Stnic Zene (2) Smart Economic Zone
cia)
(1] S:;;;‘al mm (4) Smart Electronic Zone
3) £7) %1 Q0 ET T 27
@ogo:m/’
Vgﬁﬂi B (2) #é i g
1
( \ah faerelt & (4) TR &

46



144,

l‘s.

146.

an

Which of the following sectors is contributing maximum in GDP of India?

(1) Agricultiire Sector (2) Service Sector

(3) Manufacturing Sector (4) Mining Sector

fFefifen # & #9-w &7 Wi % e R I § wfvwmm A w=x@ k7
(1) Fft &3 (2) ¥ &7 (3) Fmfor &= (4) G &7

When-was ‘Make in India’ launched in India?

(1) September 25, 2014 (2) September 25, 2015
(3) April 1, 2015 (4) January 10, 2016
TE # A | e’ B S ww o

(1) R 25, 2014 (2) RawR 25, 2015

(3) ¥ 1, 20TS (4) 990 10, 2016

When was “Digital India’ launched in India?

(1) July 1;72045 (2) March 1, 2015

(3) January 1, 2016 - (4) July 26, 2015

wa § ‘Rfea i’ ﬁ""@"ﬂﬁ-ﬁﬂi?

(1) Y& 1,-2015 (2) W1, 2015

(3) ¥l 1, 2016 (41 T 26,-2015
47
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147.

148.

149.

150.

Which country is not the member of BRICS ?
(1) Brazil (2) Russia (3) India

P-a 0 e’ &1 wow T
(1) I (2) &4 (3) WRE

UNCTAD was established in the year
UNCTAD #! wm fra ad o ?
(1) 1988 (2) 1964 (3) 1956

India’s largest exports are to
(1) USA (2) Japan (3) Russia
o &1 wad it fafa e 2w & W 27
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In which sector 100% FDI is not allowed in India?

(1) Education (2) Tourism (3) Agriculture
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(4) Cuba

(4) ¥

(4) 1900

(4) UK

(4) Yoo

(4) Insurance

(4) s
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